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K IR ft JE 10. 00| FA % 50 500 1, 296 994 648
W B 1000 126 1,260 1,206 1,145 756
HOR w5 5. 00 [ FH %} 15 75| 3,888 2,678 1,620
X D O 12. 00| #856f 666 7,992 1,404| 1,093 572
F O NAE M5 4. 00| AR} 51 204 2,160 1,811| 1,512
H % & I 3. 00| FHxf 97 291| 1,404 1,135 238
H A ] 1L 1. 00| FHxf 230 230 864 594 216
ENIEE .00 4% ol 50 2,700 2,430| 2,160
A w5 2. 00 | FH %} 165 330] 1,026 845 540
[ I\ w5 5. 00 | #H 5t 1, 160 5,800 2,268 1,967 1,512
~7 k= |k F 3. 00 [ FH %} 42 126 1,998| 1,633| 1,512
IR Ak L 2. 00| FHxf 10 20| 2,484| 2,462 2,376
H % (i 5. 00| FHxf 8 40| 1,944| 1,755 1,404
SEE JEE I 10. 00 | #H%f 695 6,950 3,240 2,797| 2,160
B ¥ = 10. 00 | #H % 148 1,480 2,700| 2,075| 1,728
£ A AL E 20. 00 | #H 5%} 161 3,220 4,860 4,310 2,700
(& @ | 10.00|fAkt| 47| 1,470| 2,862 2,420| 1,890
L&A O 10. 00 | #856f 554 5,540 4,536| 3,800 1,728
P=—LF R f& [l 4. 00| AH%F 690 2,760 2,376 1,517 1,188
Tuyal— (r— 6. 00 | FH%f 223 1,338 2,916| 2,427| 1,404
AMEE (i 0. 10| #Hxf | 4, 600 460 162 108 65
ZDEH £ ¥ 0. 20 [ #Hx} 1, 200 240 70 66 65

LU E B 0. 20 | FHx} 300 60 86
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38 Foak L 10. 00 | #H%F 156 1,560 3,856| 3,125| 1,188

Cimigii) g, 10. 00 | #H%f 208 2,080 2,862 2,555| 2,052

Avara 7 4 U E | 13.00| fH%f 4 52 2, 268

bEBR O @ [ 0. 27| FAx%F 5, 282 1,427 648 505 475

S X EF I 0.25( fHxt [ 11,476 2, 879 540 437 270

BHDY S 5 0.25| FHxf | 4,253 1,067 562 431 324




